Euler.nb

Cos[¢] -Sin[¢] O Cos[e] O Sin[e] Cos[y] -Sin[¢] O
In[14]: = [Sin[qs] Cos [¢] 0] [ 0 1 0 ] Sin[y] Cos[¥] oJ
0 0 1 -Sin[e] 0 Cos[e6] 0 0 1
Qut[14]= {{Cos[e] Cos[¢] Cos[¥] -Sin[¢] Sinly],
~Cos [¥] Sin[¢] - Cos[6] Cos[¢] Sin[y], Cos[o]Sin[o]}, _
{Cos [6] Cos [4] Sin[e] +Cos[¢] Sin[y], Cos[¢] Cos[¥] - Cos[6] Sin[e] Sin(y],
Sin(e] Sin[¢]}, {-Cos[y] Sin[e], Sin[6]Sin[y], Cos[6]}}
Cos[¢] -Sin[¢] O Cos[6] O Sin[e] Cos[¢] -Sin[y] O
In[23]:= Det[| Sin[¢] Cos[¢] o]. 0 1 0 ][Sin[w] Cos [¥] 0]]
0 0 1 -Sin[e] 0 Cos|[e] 0 0 1
Qut [ 23] = [61 s [¢]% Cos [4]? + Cos [¢]® Cos [4]? Sin[6]?
[e]ZOos[w] Sun[q>2+Oos[m Sln[e}zsin[qb]z+OOS[9}2COS[¢>]ZSin[d/}2
s[¢]12Sin[e]2Sin[¢]?+Cos[6]12Sin[¢]1?Sin[y]2+Sin[e]?Sin[¢]?Sin[y]?
In[24]:= Sinplify[Cos[6]% Cos[¢]? Cos[¥]? + Cos[¢]? Cos [#]° Sin[e]>
Cos[6]12 Cos [¥]1% Sin[¢]% + Cos[¢]1% Sin[e]? Sin[¢]? + Cos [6]2 Cos[¢]1% Si n[¥]?
Cos[¢]2 Sin[e1? Sin[¥]? + Cos[612Sin[¢]? Sin[¥]? +Sin[e12 Sin[¢]? Sin[¥]?]
ut[24]= 1
In[26]:= Sinplify[
Dot [{Cos [6] Cos [¢] Cos[¥] -Sin[¢] Sin[¢], -Cos[¥] Sin[¢] -Cos[e] Cos[eé] Sin[¥],
Cos[¢] Sin[e]}, {Cos[6] Cos[¢] Cos[¥] -Sin[s]Sin[y],
-Cos [¢] Sin[¢] - Cos[6] Cos[¢] Sin[¥], Cos[¢] Sin[e]}]]
out[26]= 1
In[27]:= Sinplify[
Dot [{Cos [6] Cos [¢] Cos[¥] -Sin[¢] Sin[¢], -Cos[¥] Sin[¢] -Cos[e] Cos[é] Sin[¥],
Cos[¢] Sin[e]}, {Cos[e] Cos[¥] Sin[¢] +Cos[¢] Si n[y],
Cos [¢] Cos[¢] -Cos[e] Sin[¢] Sin[¥], Sin[e] Sin[é]}]1]
ut[27]= O




